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1 FE = = TE1T B21&H3 2,517 2,714 5,231

2| EFE = TE1T B21%#h3 3,495 3,640 7,135

3 — Nk SRET1 T H21%&h 2,775 3,044 5,819

4[5 —h=g IMILRBTST B 6 2,120 2,209 4329

S|FE—Eis IMILRBTST B 6 2,269 2,424 4693

SITHUEZ A =+ RET4% 1 3,026 3,209 6,235

AT =+ RET4EH1 2,146 2,103 4249

8| R/ FEET1T H25% 3,640 3,969 7,609

9| At/ EAx HERT513&h 2,571 2,676 5,247
10| e EET3T B 193 H 1 3,670 3,488 7,158
11[FAREE HEET1 T B1738H#17 2,354 2,523 4877
12|E+ B =i BT 172 #1 3,837 3,740 7577
13| R/ INFE463FE Hh 3,759 3,792 7,551
14|{FE/DER #FERT6 T Bo&ihi 2,623 2,676 5,299
15| M)l EEiK NEBT2T B3z #7 3,006 3,102 6,108
16 xE%’AEﬁ'E JLHE 1192 993 1,046 2,039
17(FHh=2E A HEAER733%E# 1,162 1,190 2,352
18| A NEEE A _E3830F 2 1,479 1,477 2,956
19| H B/hEfx HA 54652 1 2,782 2,879 5,661
0|EANREE 5 R 37151 3,082 3,326 6,408
21| FE B NERR AEFH 1451 % 4,355 4,363 8,718
22| FFINER 4+ F418%Hh 2,813 2,745 5,558
23| &tE fh410%H#h 2,226 2,245 4,471
24|12 E —REE FE190ZFH1 2,508 2,521 5,029
25(FEFER FE1068FiHh 2,244 2.372 4616
26|58/ F) 3 582 Hh 1,981 2,174 4155
2/ BT R 32— 27 & Hh 1 3,883 4,092 7,975
28| EET R 32— FER27E Hh 1 2,486 2,543 5,029
29| 5 BERg /AR SREAET 1225 13 1,936 1,877 3,813
30 T%‘B SR N REE ik R HT 2325 H#h 7 2,440 2,325 4,765
31 (g t£& AR 112425 17 2417 2,386 4,803
32 EP-L‘ EASEE hE52THi17&#11 2,956 2,989 5,945
BN GEBTEAEASES 445599 #h?2 2,208 2,247 4,455
AERARE 5184812 H#3 3,153 3,187 6,340
35| REH/NFEK ESHXAIT BH16FE I 2,717 2,747 5,464
36[REE/NER HSLEF 1451 3,113 3,181 6,294
37| KRETRE 27— BWEAST B16%Hh1 1,831 1,801 3,632
38| KEFLAREE FE3T BH4FHh3 4498 4422 8,920
39| KEF/NFEK LR 322 #h5 2,608 2,609 5,217
40|5= N B 778 2,337 2,338 4675
41[ErBid=ais g 723 Hh 2,370 2,394 4764
42()1 % > 3— JI[EE2T H8#&ih3 2,332 2,524 4,856
43[E INEEAR N AHEFITHI1EH4 1,944 2,186 4,130
44 a;tmmﬁrrx—)l/ B35 1904 H 11 2,785 2,696 5,481
45| PR/ %3971 #h4 3,746 3,817 7,563
46 i,h —a—AO EAEEE |BEBEERST B1E#h4 1,662 1,747 3,409
47|E7BEIE A REE RUi5 b1 T B 18FHh6 965 1,110 2,075
48| Ed /AR {FEAERTS T B 1851 2,785 3,033 5818
49| B H =16 T BE3E 1,228 1,402 2,630
50 %%W%ﬁ | fiz 315902 Hh 1 2,600 2,614 5,214
S51| FF/INVER FF390F#h1 1,968 2,062 4,030
52|12 Rt 42— INIE6623 HE 1 4595 4,454 9,049
53| F/MREESEE T/ R651FHh2 449 445 894
S4| LB INER T L5582 1 2,681 2,710 5,391
SO[ILH/INEES LI 1678 #h 2,604 2,615 5219
SO6|ILI /MR L1671 2,209 2,226 4,435




